



RAM PRASAD & SONS

(EDUCATIONAL PUBLISHERS)

82, GOLDEN HOMES, NEAR VIP CLUB, POST.-SADDU, RAIPUR.-492014

Phone/Fax : 0771-4025399, Mob : 098261-44401, 092296-58699

E-mail : rpsonsraipur@gmail.com

se,

Credit Invoice No. 267

Date : 09/02/2016

To, M/s PRINCIPAL, GOVT. COLLEGE, DABHRA
DABHRA. (JANJGIR-CHAMPA)

Pg. No. 1

ORDER NO. -
REG./COURIER--

DATE --
Trans. -ORIENT GOODS

| S.NO. | PARTICULARS | AUTHOR | QTY | RATE | GROSS AMT. | DIS. VALUE | NET AMOUNT |
|-------|---|--------------------|-----|--------|------------|------------|------------|
| 1 | PP Ekatam Manavwad | Upadhyaya | 1 | 175.00 | 175.00 | 35.00 | 140.00 |
| 2 | Swami-Vivekanand : Vyaktitav Evam Vichar | Gupt | 1 | 350.00 | 350.00 | 70.00 | 280.00 |
| 3 | राजनीति विज्ञान (प्रथम वर्ष) | J. Shyamsundram | 31 | 325.00 | 10075.00 | 2,015.00 | 8060.00 |
| 4 | समाजशास्त्र (प्रथम वर्ष) | A.P. Shrivastava | 30 | 300.00 | 9000.00 | 1,800.00 | 7200.00 |
| 5 | भूगोल (प्रथम वर्ष) | H.S. Gupta | 20 | 375.00 | 7500.00 | 1,500.00 | 6000.00 |
| 6 | अर्थशास्त्र (प्रथम वर्ष) | C.S. Mishra | 20 | 375.00 | 7500.00 | 1,500.00 | 6000.00 |
| 7 | (CGA) Bhartiayata Ke Amar Swar | | 5 | 80.00 | 400.00 | 80.00 | 320.00 |
| 8 | (CGA) Hindi Bhasha Samsamayki | | 5 | 40.00 | 200.00 | 40.00 | 160.00 |
| 9 | (CGA) Hindi Ke Shrestha Nibandh Evam Pra. Vya | | 5 | 30.00 | 150.00 | 30.00 | 120.00 |
| 10 | (CGA) English Language and Aspects of Develop | | 5 | 40.00 | 200.00 | 40.00 | 160.00 |
| 11 | (CGA) Foundation English | | 5 | 40.00 | 200.00 | 40.00 | 160.00 |
| 12 | (CGA) English Language and Indian Culture | | 5 | 40.00 | 200.00 | 40.00 | 160.00 |
| 13 | राजनीति विज्ञान (द्वितीय वर्ष) | J. Shyamsundram | 25 | 300.00 | 7500.00 | 1,500.00 | 6000.00 |
| 14 | समाजशास्त्र (द्वितीय वर्ष) | A.P. Shrivastava | 25 | 300.00 | 7500.00 | 1,500.00 | 6000.00 |
| 15 | अर्थशास्त्र (द्वितीय वर्ष) | C.S. Mishra | 24 | 400.00 | 9600.00 | 1,920.00 | 7680.00 |
| 16 | भूगोल (द्वितीय वर्ष) | H.S. Gupta | 25 | 375.00 | 9375.00 | 1,875.00 | 7500.00 |
| 17 | राजनीति विज्ञान (तृतीय वर्ष) | J. Shyamsundram | 13 | 190.00 | 2470.00 | 494.00 | 1976.00 |
| 18 | समाजशास्त्र (तृतीय वर्ष) | A.P. Shrivastava | 15 | 300.00 | 4500.00 | 900.00 | 3600.00 |
| 19 | अर्थशास्त्र (तृतीय वर्ष) | C.S. Mishra | 10 | 375.00 | 3750.00 | 750.00 | 3000.00 |
| 20 | भूगोल (तृतीय वर्ष) | S.N. Gautam | 10 | 400.00 | 4000.00 | 800.00 | 3200.00 |
| 21 | जन्तु विज्ञान (प्रथम वर्ष) | S.M. Saxena | 3 | 500.00 | 1500.00 | 300.00 | 1200.00 |
| 22 | वनस्पति विज्ञान (प्रथम वर्ष) | Niranjan Shrotriya | 3 | 375.00 | 1125.00 | 225.00 | 900.00 |
| 23 | रसायन (प्रथम वर्ष) | R.C. Saraswat | 5 | 460.00 | 2300.00 | 460.00 | 1840.00 |
| 24 | बीजगणित एवं त्रिकोणमिति | B.R. Thakur | 3 | 300.00 | 900.00 | 180.00 | 720.00 |
| 25 | कलन के मूल तत्व | B.R. Thakur | 3 | 300.00 | 900.00 | 180.00 | 720.00 |
| 26 | सदिश विश्लेषण एवं ज्यामिति | B.R. Thakur | 3 | 300.00 | 900.00 | 180.00 | 720.00 |
| 27 | जन्तु विज्ञान (द्वितीय वर्ष) | S.M. Saxena | 2 | 500.00 | 1000.00 | 200.00 | 800.00 |
| 28 | वनस्पति विज्ञान (द्वितीय वर्ष) | Niranjan Shrotriya | 2 | 330.00 | 660.00 | 132.00 | 528.00 |
| 29 | रसायन (द्वितीय वर्ष) | R.C. Saraswat | 3 | 475.00 | 1425.00 | 285.00 | 1140.00 |
| 30 | उच्च कलन | B.R. Thakur | 2 | 250.00 | 500.00 | 100.00 | 400.00 |
| 31 | अवकल समीकरण | B.R. Thakur | 2 | 220.00 | 440.00 | 88.00 | 352.00 |
| 32 | बल विज्ञान | B.R. Thakur | 2 | 220.00 | 440.00 | 88.00 | 352.00 |
| 33 | जन्तु विज्ञान (तृतीय वर्ष) | S.M. Saxena | 2 | 500.00 | 1000.00 | 200.00 | 800.00 |
| 34 | वनस्पति विज्ञान (तृतीय वर्ष) | Niranjan Shrotriya | 2 | 330.00 | 660.00 | 132.00 | 528.00 |
| 35 | रसायन (तृतीय वर्ष) | R.C. Saraswat | 3 | 375.00 | 1125.00 | 225.00 | 900.00 |
| 36 | अमूर्त बीजगणित | B.R. Thakur | 2 | 240.00 | 480.00 | 96.00 | 384.00 |
| 37 | विश्लेषण | B.R. Thakur | 2 | 240.00 | 480.00 | 96.00 | 384.00 |
| 38 | वित्तीय लेखांकन | M.R. Agarwal | 10 | 450.00 | 4500.00 | 900.00 | 3600.00 |

E. & O.E. Int. 24% P.A. will be charged if payment is not made in 15 days
Return of books will be accepted by 31st December.
Any claim regarding this bill will be entertained within a week only.



For RAM PRASAD & SONS



RAM PRASAD & SONS

(EDUCATIONAL PUBLISHERS)

82, GOLDEN HOMES, NEAR VIP CLUB, POST.-SADDU, RAIPUR.-492014

Phone/Fax : 0771-4025399, Mob : 098261-44401, 092296-58699

E-mail : rpsonsraipur@gmail.com

Credit Invoice No. 267

Date : 09/02/2016

To, M/s PRINCIPAL, GOVT. COLLEGE, DABHRA
DABHRA. (JANJGIR-CHAMPA)

Pg. No. 2

ORDER NO. - DATE --
REG./COURIER-- Trans. -ORIENT GOODS

| S.NO. | PARTICULARS | AUTHOR | QTY | RATE | GROSS AMT. | DIS. VALUE | NET AMOUNT |
|-------------------|------------------------|--------------|-----|--------|------------|------------|------------|
| 39 | व्यावसायिक गणित | M.R. Agarwal | 10 | 350.00 | 3500.00 | 700.00 | 2800.00 |
| 40 | व्यावसायिक अर्थशास्त्र | Vinod Mishra | 5 | 200.00 | 1000.00 | 200.00 | 800.00 |
| 41 | व्यावसायिक पर्यावरण | Gupta | 5 | 200.00 | 1000.00 | 200.00 | 800.00 |
| 42 | प्रबन्धकीय लेखांकन | M.R. Agarwal | 3 | 350.00 | 1050.00 | 210.00 | 840.00 |
| 43 | अंकेक्षण | Ashok Sharma | 3 | 200.00 | 600.00 | 120.00 | 480.00 |
| 44 | पर्यावरण अध्ययन | Shukla | 15 | 200.00 | 3000.00 | 600.00 | 2400.00 |
| Discount : 20.00% | | | | | 115130.00 | 23026.00 | 92104.00 |

OUR BANKER- HDFC BANK, SHANKAR NAGAR. A/C NO. 27062020000134, IFSC- HDFC 0002496

| | | | | | |
|-----------|------------|-----------|-----------------------------|---------------------------|-----------|
| Total Qty | Gross Amt. | Tot. Disc | Balance Including This Bill | Amount Rs.: | 92104.00 |
| 375 | 115130.00 | 23026.00 | 112,100.00 | Postage/ Fright Charges : | 0.00 |
| | | | | Extra Discount (-) : | 4.00 |
| | | | | Net Amount : | 92,100.00 |

In Words : Ninety Two Thousand One Hundred Only

E. & O.E. Int. 24% P.A. will be charged if payment is not made in 15 days.
Return of books will be accepted by 31st December.
Any claim regarding this bill will be entertained within a week only.

For RAM PRASAD & SONS



TIN NO 22021704552

RAM PRASAD & SONS

(EDUCATIONAL PUBLISHERS)

ST

82, GOLDEN HOMES, NEAR VIP CLUB, POST.-SADDU, RAIPUR.-492014

Phone/Fax : 0771-4025399, Mob : 098261-44401, 092296-58699

E-mail : rpsonsraipur@gmail.com

Credit Invoice No. 268

Date : 09/02/2016

To, M/s PRINCIPAL, GOVT. COLLEGE, DABHRA
DABHRA. (JANJGIR-CHAMPA)

Pg. No. 1

ORDER NO. -
REG./COURIER--DATE --
Trans. -ORIENT GOODS

| S.NO. | PARTICULARS | AUTHOR | QTY | RATE | GROSS AMT. | DIS. VALUE | NET AMOUNT |
|-------------------|--------------------------------|------------------|-----|--------|------------|------------|------------|
| 1 | राजनीति विज्ञान (प्रथम वर्ष) | J. Shyamsundram | 6 | 325.00 | 1950.00 | 390.00 | 1560.00 |
| 2 | समाजशास्त्र (प्रथम वर्ष) | A.P. Shrivastava | 6 | 300.00 | 1800.00 | 360.00 | 1440.00 |
| 3 | भूगोल (प्रथम वर्ष) | H.S. Gupta | 6 | 375.00 | 2250.00 | 450.00 | 1800.00 |
| 4 | अर्थशास्त्र (प्रथम वर्ष) | C.S. Mishra | 6 | 375.00 | 2250.00 | 450.00 | 1800.00 |
| 5 | राजनीति विज्ञान (द्वितीय वर्ष) | J. Shyamsundram | 5 | 300.00 | 1500.00 | 300.00 | 1200.00 |
| 6 | समाजशास्त्र (द्वितीय वर्ष) | A.P. Shrivastava | 5 | 300.00 | 1500.00 | 300.00 | 1200.00 |
| 7 | अर्थशास्त्र (द्वितीय वर्ष) | C.S. Mishra | 5 | 400.00 | 2000.00 | 400.00 | 1600.00 |
| 8 | भूगोल (द्वितीय वर्ष) | H.S. Gupta | 5 | 375.00 | 1875.00 | 375.00 | 1500.00 |
| 9 | राजनीति विज्ञान (तृतीय वर्ष) | J. Shyamsundram | 5 | 190.00 | 950.00 | 190.00 | 760.00 |
| 10 | समाजशास्त्र (तृतीय वर्ष) | A.P. Shrivastava | 5 | 300.00 | 1500.00 | 300.00 | 1200.00 |
| 11 | अर्थशास्त्र (तृतीय वर्ष) | C.S. Mishra | 4 | 375.00 | 1500.00 | 300.00 | 1200.00 |
| 12 | भूगोल (तृतीय वर्ष) | S.N. Gautam | 4 | 400.00 | 1600.00 | 320.00 | 1280.00 |
| 13 | रसायन (प्रथम वर्ष) | R.C. Saraswat | 5 | 460.00 | 2300.00 | 460.00 | 1840.00 |
| 14 | रसायन (द्वितीय वर्ष) | R.C. Saraswat | 5 | 475.00 | 2375.00 | 475.00 | 1900.00 |
| 15 | उच्च कलन | B.R. Thakur | 2 | 250.00 | 500.00 | 100.00 | 400.00 |
| 16 | अवकल समीकरण | B.R. Thakur | 2 | 220.00 | 440.00 | 88.00 | 352.00 |
| 17 | बल विज्ञान | B.R. Thakur | 2 | 220.00 | 440.00 | 88.00 | 352.00 |
| 18 | रसायन (तृतीय वर्ष) | R.C. Saraswat | 5 | 375.00 | 1875.00 | 375.00 | 1500.00 |
| 19 | विश्लेषण | B.R. Thakur | 3 | 240.00 | 720.00 | 144.00 | 576.00 |
| 20 | अमूर्त बीजगणित | B.R. Thakur | 2 | 240.00 | 480.00 | 96.00 | 384.00 |
| 21 | वित्तीय लेखांकन | M.R. Agarwal | 5 | 450.00 | 2250.00 | 450.00 | 1800.00 |
| 22 | प्रबन्धकीय लेखांकन | M.R. Agarwal | 2 | 350.00 | 700.00 | 140.00 | 560.00 |
| 23 | व्यावसायिक गणित | M.R. Agarwal | 5 | 350.00 | 1750.00 | 350.00 | 1400.00 |
| Discount : 20.00% | | | | | 34505.00 | 6901.00 | 27604.00 |

OUR BANKER- HDFC BANK, SHANKAR NAGAR, A/C NO. 27062020000134, IFSC- HDFC 0002496

| | | | | | |
|---|------------|-----------|-----------------------------|----------------------------|-----------|
| Total Qty | Gross Amt. | Tot. Disc | Balance Including This Bill | Amount Rs.: | 27604.00 |
| 100 | 34505.00 | 6901.00 | 139,700.00 | Postage/ Freight Charges : | 0.00 |
| | | | | Extra Discount (-) : | 4.00 |
| In Words : Twenty Seven Thousand Six Hundred Only | | | | Net Amount : | 27,600.00 |

E. & O.E. Int. 24% P.A. will be charged if payment is not made in 15 days.
Return of books will be accepted by 31st December.
Any claim regarding this bill will be entertained within a week only.

For RAM PRASAD & SONS

RAM PRASAD & SONS

(EDUCATIONAL PUBLISHERS)

82, GOLDEN HOMES, NEAR VIP CLUB, POST.-SADDU, RAIPUR.-492014

Phone : 0771-4025399; Mob : 98261-44401, 92296-58699

E-mail : rpsonsraipur@gmail.com / Website : www.rpsons.com

BILL No. 167

Date : 02/02/2017

To, M/s PRINCIPAL, GOVT. COLLEGE, DABHRA
DABHRA. (JANJGIR-CHAMPA)

Pg. No. 1

ORDER NO. -
REG./COURIER--DATE --
Trans. --

| S.NO. | PARTICULARS | AUTHOR | QTY | RATE | GROSS AMT. | DIS. VALUE | NET AMOUNT |
|-------|---|--------------------|-----|--------|------------|------------|------------|
| 1 | राजनीति विज्ञान (प्रथम वर्ष) | J. Shyamsundram | 26 | 325.00 | 8450.00 | 1,690.00 | 6760.00 |
| 2 | समाजशास्त्र (प्रथम वर्ष) | A.P. Shrivastava | 24 | 300.00 | 7200.00 | 1,440.00 | 5760.00 |
| 3 | अर्थशास्त्र (प्रथम वर्ष) | C.S. Mishra | 17 | 375.00 | 6375.00 | 1,275.00 | 5100.00 |
| 4 | भूगोल (प्रथम वर्ष) | H.S. Gupta | 17 | 375.00 | 6375.00 | 1,275.00 | 5100.00 |
| 5 | राजनीति विज्ञान (द्वितीय वर्ष) | J. Shyamsundram | 25 | 300.00 | 7500.00 | 1,500.00 | 6000.00 |
| 6 | समाजशास्त्र (द्वितीय वर्ष) | A.P. Shrivastava | 25 | 300.00 | 7500.00 | 1,500.00 | 6000.00 |
| 7 | अर्थशास्त्र (द्वितीय वर्ष) | C.S. Mishra | 20 | 425.00 | 8500.00 | 1,700.00 | 6800.00 |
| 8 | भूगोल (द्वितीय वर्ष) | H.S. Gupta | 20 | 375.00 | 7500.00 | 1,500.00 | 6000.00 |
| 9 | राजनीति विज्ञान (तृतीय वर्ष) | J. Shyamsundram | 10 | 190.00 | 1900.00 | 380.00 | 1520.00 |
| 10 | समाजशास्त्र (तृतीय वर्ष) | A.P. Shrivastava | 10 | 300.00 | 3000.00 | 600.00 | 2400.00 |
| 11 | अर्थशास्त्र (तृतीय वर्ष) | C.S. Mishra | 8 | 375.00 | 3000.00 | 600.00 | 2400.00 |
| 12 | भूगोल (तृतीय वर्ष) | S.N. Gautam | 8 | 400.00 | 3200.00 | 640.00 | 2560.00 |
| 13 | भौतिकी (प्रथम वर्ष) | B.K. Sinha | 4 | 500.00 | 2000.00 | 400.00 | 1600.00 |
| 14 | बीजगणित एवं त्रिकोणमिति | B.R. Thakur | 2 | 300.00 | 600.00 | 120.00 | 480.00 |
| 15 | कलन के मूल तत्व | B.R. Thakur | 2 | 300.00 | 600.00 | 120.00 | 480.00 |
| 16 | सदिश विश्लेषण एवं ज्यामिति | B.R. Thakur | 2 | 300.00 | 600.00 | 120.00 | 480.00 |
| 17 | जन्तु विज्ञान (प्रथम वर्ष) | S.M. Saxena | 3 | 500.00 | 1500.00 | 300.00 | 1200.00 |
| 18 | रसायन (प्रथम वर्ष) | R.C. Saraswat | 4 | 460.00 | 1840.00 | 368.00 | 1472.00 |
| 19 | वनस्पति विज्ञान (प्रथम वर्ष) | Niranjan Shrotriya | 3 | 375.00 | 1125.00 | 225.00 | 900.00 |
| 20 | रसायन (द्वितीय वर्ष) | R.C. Saraswat | 3 | 475.00 | 1425.00 | 285.00 | 1140.00 |
| 21 | भौतिकी (द्वितीय वर्ष) | B.K. Sinha | 3 | 500.00 | 1500.00 | 300.00 | 1200.00 |
| 22 | जन्तु विज्ञान (द्वितीय वर्ष) | S.M. Saxena | 2 | 500.00 | 1000.00 | 200.00 | 800.00 |
| 23 | रसायन (तृतीय वर्ष) | R.C. Saraswat | 4 | 400.00 | 1600.00 | 320.00 | 1280.00 |
| 24 | जन्तु विज्ञान (तृतीय वर्ष) | S.M. Saxena | 3 | 500.00 | 1500.00 | 300.00 | 1200.00 |
| 25 | वनस्पति विज्ञान (तृतीय वर्ष) | Niranjan Shrotriya | 3 | 330.00 | 990.00 | 198.00 | 792.00 |
| 26 | अमूर्त बीजगणित | B.R. Thakur | 2 | 240.00 | 480.00 | 96.00 | 384.00 |
| 27 | विश्लेषण | B.R. Thakur | 2 | 240.00 | 480.00 | 96.00 | 384.00 |
| 28 | वित्तीय लेखांकन | M.R. Agarwal | 5 | 450.00 | 2250.00 | 450.00 | 1800.00 |
| 29 | व्यावसायिक गणित | M.R. Agarwal | 5 | 350.00 | 1750.00 | 350.00 | 1400.00 |
| 30 | व्यावसायिक नियमन रूपरेखा | A.K. Gangele | 4 | 290.00 | 1160.00 | 232.00 | 928.00 |
| 31 | प्रबंधकीय लेखांकन | M.R. Agarwal | 4 | 350.00 | 1400.00 | 280.00 | 1120.00 |
| 32 | SBPD Lagat Lekhankan | Mehta | 5 | 425.00 | 2125.00 | 425.00 | 1700.00 |
| 33 | SBPD Nigmiya Lekhankan | Karim | 5 | 350.00 | 1750.00 | 350.00 | 1400.00 |
| 34 | लोक प्रशासन | Rao | 4 | 100.00 | 400.00 | 80.00 | 320.00 |
| 35 | KPS Lok Prashashan | Khatri | 2 | 450.00 | 900.00 | 180.00 | 720.00 |
| 36 | KPS Tulnatmak Rajniti | Khatri | 4 | 350.00 | 1400.00 | 280.00 | 1120.00 |
| 37 | KPS Antarashtriya Rajniti Evam Samkaleen Mudd | Khatri | 4 | 400.00 | 1600.00 | 320.00 | 1280.00 |
| 38 | KPS Antarashtriya Kanoon | Khatri | 4 | 400.00 | 1600.00 | 320.00 | 1280.00 |

E. & O.E. Int. 24% P.A. will be charged if payment is not made in 15 days.
Return of books will be accepted by 31st December.
Any claim regarding this bill will be entertained within a week only.

For RAM PRASAD & SONS



RAM PRASAD & SONS

(EDUCATIONAL PUBLISHERS)

82, GOLDEN HOMES, NEAR VIP CLUB, POST.-SADDU, RAIPUR.-492014

Phone : 0771-4025399; Mob : 98261-44401, 92296-58699

E-mail : rpsonsraipur@gmail.com / Website : www.rpsons.com

BILL No. 167

Date : 02/02/2017

To, M/s PRINCIPAL, GOVT. COLLEGE, DABHRA
DABHRA. (JANJGIR-CHAMPA)

Pg. No. 2

ORDER NO. -
REG./COURIER--

DATE --
Trans. --

--

| S.NO. | PARTICULARS | AUTHOR | QTY | RATE | GROSS AMT. | DIS. VALUE | NET AMOUNT |
|-------------------|-----------------------------------|-----------------|-----|--------|------------------|-----------------|-----------------|
| 39 | KPS Antarashtriya Sangathan | Khatri | 4 | 350.00 | 1400.00 | 280.00 | 1120.00 |
| 40 | KPS Bhartiya Sashan Evam Rajniti | Khatri | 4 | 400.00 | 1600.00 | 320.00 | 1280.00 |
| 41 | KPS Bharat Main Rajyon Ki Rajniti | Khatri | 4 | 300.00 | 1200.00 | 240.00 | 960.00 |
| 42 | प्रायोगिक रसायन (तृतीय वर्ष) | Samrendra Singh | 6 | 100.00 | 600.00 | 120.00 | 480.00 |
| Discount : 20.00% | | | | | 108875.00 | 21775.00 | 87100.00 |

OUR BANKER- HDFC BANK, SHANKAR NAGAR. A/C NO. 27062020000134, IFSC- HDFC 0002496

| | | | | | |
|---|------------|-----------|-----------------------------|---------------------------|-----------|
| Total Qty | Gross Amt. | Tot. Disc | Balance Including This Bill | Amount Rs.: | 87100.00 |
| 316 | 108875.00 | 21775.00 | 116,400.00 | Postage/ Fright Charges : | 0.00 |
| In Words : Eighty Seven Thousand One Hundred Only | | | | Net Amount : | 87,100.00 |

E. & O.E. Int. 24% P.A. will be charged if payment is not made in 15 days.
Return of books will be accepted by 31st December.
Any claim regarding this bill will be entertained within a week only.

For RAM PRASAD & SONS



RAM PRASAD & SONS

(EDUCATIONAL PUBLISHERS)

82, GOLDEN HOMES, NEAR VIP CLUB, POST.-SADDU, RAIPUR.-492014

Phone : 0771-4025399; Mob : 98261-44401, 92296-58699

E-mail : rpsonsraipur@gmail.com / Website : www.rpsons.com

BILL No. 166

ST

Date : 02/02/2017

To, M/s PRINCIPAL, GOVT. COLLEGE, DABHRA
DABHRA. (JANJGIR-CHAMPA)

Pg. No. 1

ORDER NO. -
REG./COURIER--

DATE --
Trans. --r

| S.NO. | PARTICULARS | AUTHOR | QTY | RATE | GROSS AMT. | DIS. VALUE | NET AMOUNT |
|-------------------|---|--------------------|-----|--------|------------|------------|------------|
| 1 | राजनीति विज्ञान (प्रथम वर्ष) | J. Shyamsundram | 8 | 325.00 | 2600.00 | 520.00 | 2080.00 |
| 2 | समाजशास्त्र (प्रथम वर्ष) | A.P. Shrivastava | 6 | 300.00 | 1800.00 | 360.00 | 1440.00 |
| 3 | अर्थशास्त्र (प्रथम वर्ष) | C.S. Mishra | 7 | 375.00 | 2625.00 | 525.00 | 2100.00 |
| 4 | भूगोल (प्रथम वर्ष) | H.S. Gupta | 7 | 375.00 | 2625.00 | 525.00 | 2100.00 |
| 5 | राजनीति विज्ञान (द्वितीय वर्ष) | J. Shyamsundram | 4 | 300.00 | 1200.00 | 240.00 | 960.00 |
| 6 | समाजशास्त्र (द्वितीय वर्ष) | A.P. Shrivastava | 4 | 300.00 | 1200.00 | 240.00 | 960.00 |
| 7 | अर्थशास्त्र (द्वितीय वर्ष) | C.S. Mishra | 4 | 425.00 | 1700.00 | 340.00 | 1360.00 |
| 8 | भूगोल (द्वितीय वर्ष) | H.S. Gupta | 4 | 375.00 | 1500.00 | 300.00 | 1200.00 |
| 9 | राजनीति विज्ञान (तृतीय वर्ष) | J. Shyamsundram | 5 | 190.00 | 950.00 | 190.00 | 760.00 |
| 10 | समाजशास्त्र (तृतीय वर्ष) | A.P. Shrivastava | 5 | 300.00 | 1500.00 | 300.00 | 1200.00 |
| 11 | अर्थशास्त्र (तृतीय वर्ष) | C.S. Mishra | 4 | 375.00 | 1500.00 | 300.00 | 1200.00 |
| 12 | भूगोल (तृतीय वर्ष) | S.N. Gautam | 4 | 400.00 | 1600.00 | 320.00 | 1280.00 |
| 13 | जन्तु विज्ञान (प्रथम वर्ष) | S.M. Saxena | 3 | 500.00 | 1500.00 | 300.00 | 1200.00 |
| 14 | रसायन (प्रथम वर्ष) | R.C. Saraswat | 3 | 460.00 | 1380.00 | 276.00 | 1104.00 |
| 15 | वनस्पति विज्ञान (प्रथम वर्ष) | Niranjan Shrotriya | 3 | 375.00 | 1125.00 | 225.00 | 900.00 |
| 16 | भौतिकी (प्रथम वर्ष) | B.K. Sinha | 3 | 500.00 | 1500.00 | 300.00 | 1200.00 |
| 17 | बीजगणित एवं त्रिकोणमिति | B.R. Thakur | 2 | 300.00 | 600.00 | 120.00 | 480.00 |
| 18 | कलन के मूल तत्व | B.R. Thakur | 2 | 300.00 | 600.00 | 120.00 | 480.00 |
| 19 | सदिश विश्लेषण एवं ज्यामिति | B.R. Thakur | 2 | 300.00 | 600.00 | 120.00 | 480.00 |
| 20 | रसायन (द्वितीय वर्ष) | R.C. Saraswat | 2 | 475.00 | 950.00 | 190.00 | 760.00 |
| 21 | रसायन (तृतीय वर्ष) | R.C. Saraswat | 3 | 400.00 | 1200.00 | 240.00 | 960.00 |
| 22 | वनस्पति विज्ञान (तृतीय वर्ष) | Niranjan Shrotriya | 3 | 330.00 | 990.00 | 198.00 | 792.00 |
| 23 | वित्तीय लेखांकन | M.R. Agarwal | 2 | 450.00 | 900.00 | 180.00 | 720.00 |
| 24 | उच्च कलन | B.R. Thakur | 2 | 250.00 | 500.00 | 100.00 | 400.00 |
| 25 | अवकल समीकरण | B.R. Thakur | 2 | 220.00 | 440.00 | 88.00 | 352.00 |
| 26 | बल विज्ञान | B.R. Thakur | 2 | 220.00 | 440.00 | 88.00 | 352.00 |
| 27 | भौतिकी (द्वितीय वर्ष) | B.K. Sinha | 2 | 500.00 | 1000.00 | 200.00 | 800.00 |
| 28 | KPS Shodh Pravidhi | Khatri | 2 | 400.00 | 800.00 | 160.00 | 640.00 |
| 29 | KPS Lok Prashashan | Khatri | 2 | 450.00 | 900.00 | 180.00 | 720.00 |
| 30 | KPS Antarashtriya Rajniti Evam Samkaleen Mudd | Khatri | 1 | 400.00 | 400.00 | 80.00 | 320.00 |
| Discount : 20.00% | | | | | 36625.00 | 7325.00 | 29300.00 |

OUR BANKER- HDFC BANK, SHANKAR NAGAR. A/C NO. 27062020000134, IFSC- HDFC 0002496

| | | | | | |
|-----------|------------|-----------|-----------------------------|---------------------------|----------|
| Total Qty | Gross Amt. | Tot. Disc | Balance Including This Bill | Amount Rs.: | 29300.00 |
| 103 | 36625.00 | 7325.00 | 116,400.00 | Postage/ Fright Charges : | 0.00 |

In Words : Twenty Nine Thousand Three Hundred Only

Net Amount : 29,300.00

E. & O.E. Int. 24% P.A. will be charged if payment is not made in 15 days.
Return of books will be accepted by 31st December.
Any claim regarding this bill will be entertained within a week only.

For RAM PRASAD & SONS



RAM PRASAD & SONS

(EDUCATIONAL PUBLISHERS)

82, GOLDEN HOMES, NEAR VIP CLUB, POST. SADDU, RAIPUR - 492014

Phone : 0771-4025399; Mob : 98261-44401, 87709-01006

E-mail : rpsonsraipur@gmail.com

GST 22AVWPA1408R1ZB

BILL No. 393

Date : 30/01/2018

To, M/s PRINCIPAL, GOVT. COLLEGE, DABHRA
DABHRA. (JANJGIR-CHAMPA)

Pg. No. 1

REGD./COURIER--

DATE --
Trans. --

--

| S.NO. | PARTICULARS | AUTHOR | QTY | RATE | GROSS AMT. | DIS. VALUE | NET AMOUNT |
|-------------------|---|--------------------|-----|--------|------------|------------|------------|
| 1 | अर्थशास्त्र (प्रथम वर्ष) | C.S. Mishra | 15 | 425.00 | 6375.00 | 1,338.75 | 5036.25 |
| 2 | भूगोल (प्रथम वर्ष) | H.S. Gupta | 15 | 400.00 | 6000.00 | 1,260.00 | 4740.00 |
| 3 | राजनीति विज्ञान (प्रथम वर्ष) | J. Shyamsundram | 13 | 330.00 | 4290.00 | 900.90 | 3389.10 |
| 4 | अर्थशास्त्र (द्वितीय वर्ष) | J.L. Bharadwaj | 30 | 450.00 | 13500.00 | 2,835.00 | 10665.00 |
| 5 | भूगोल (द्वितीय वर्ष) | H.S. Gupta | 30 | 425.00 | 12750.00 | 2,677.50 | 10072.50 |
| 6 | राजनीति विज्ञान (द्वितीय वर्ष) | J. Shyamsundram | 30 | 330.00 | 9900.00 | 2,079.00 | 7821.00 |
| 7 | अर्थशास्त्र (तृतीय वर्ष) | C.S. Mishra | 34 | 400.00 | 13600.00 | 2,856.00 | 10744.00 |
| 8 | भूगोल (तृतीय वर्ष) | S.N. Gautam | 28 | 425.00 | 11900.00 | 2,499.00 | 9401.00 |
| 9 | राजनीति विज्ञान (तृतीय वर्ष) | J. Shyamsundram | 20 | 215.00 | 4300.00 | 903.00 | 3397.00 |
| 10 | द्वितीय लेखांकन | M.R. Agarwal | 1 | 450.00 | 450.00 | 94.50 | 355.50 |
| 11 | लागत लेखांकन | Agarwal | 8 | 550.00 | 4400.00 | 924.00 | 3476.00 |
| 12 | प्रबन्धकीय लेखांकन | M.R. Agarwal | 13 | 350.00 | 4550.00 | 955.50 | 3594.50 |
| 13 | रसायन (प्रथम वर्ष) | R.C. Saraswat | 3 | 500.00 | 1500.00 | 315.00 | 1185.00 |
| 14 | वनस्पति विज्ञान (प्रथम वर्ष) | Niranjan Shrotriya | 3 | 400.00 | 1200.00 | 252.00 | 948.00 |
| 15 | जन्तु विज्ञान (प्रथम वर्ष) | S.M. Saxena | 3 | 575.00 | 1725.00 | 362.25 | 1362.75 |
| 16 | रसायन (द्वितीय वर्ष) | R.C. Saraswat | 3 | 525.00 | 1575.00 | 330.75 | 1244.25 |
| 17 | जन्तु विज्ञान (द्वितीय वर्ष) | S.M. Saxena | 3 | 550.00 | 1650.00 | 346.50 | 1303.50 |
| 18 | वनस्पति विज्ञान (द्वितीय वर्ष) | Niranjan Shrotriya | 3 | 375.00 | 1125.00 | 236.25 | 888.75 |
| 19 | रसायन (तृतीय वर्ष) | R.C. Saraswat | 5 | 425.00 | 2125.00 | 446.25 | 1678.75 |
| 20 | जन्तु विज्ञान (तृतीय वर्ष) | S.M. Saxena | 4 | 575.00 | 2300.00 | 483.00 | 1817.00 |
| 21 | वनस्पति विज्ञान (तृतीय वर्ष) | Niranjan Shrotriya | 5 | 375.00 | 1875.00 | 393.75 | 1481.25 |
| 22 | KPS Tulnatmak Rajniti | Khatri | 5 | 350.00 | 1750.00 | 367.50 | 1382.50 |
| 23 | KPS Antarashtriya Rajniti Evam Samkaleen Mudd | Khatri | 5 | 400.00 | 2000.00 | 420.00 | 1580.00 |
| 24 | KPS Lok Prashashan | Khatri | 5 | 450.00 | 2250.00 | 472.50 | 1777.50 |
| 25 | KPS Pashchatya Rajnitik Chintan | Khatri | 5 | 400.00 | 2000.00 | 420.00 | 1580.00 |
| 26 | KPS Shodh Pravidhi | Khatri | 5 | 400.00 | 2000.00 | 420.00 | 1580.00 |
| 27 | KPS Bharat Main Rajyon Ki Rajniti | Khatri | 5 | 300.00 | 1500.00 | 315.00 | 1185.00 |
| 28 | KPS Bharat Ki Videsh Niti | Khatri | 5 | 350.00 | 1750.00 | 367.50 | 1382.50 |
| 29 | KPS Antarashtriya Kanoon | Khatri | 5 | 400.00 | 2000.00 | 420.00 | 1580.00 |
| 30 | KPS Antarashtriya Sangathan | Khatri | 4 | 350.00 | 1400.00 | 294.00 | 1106.00 |
| 31 | KPS Bhartiya Sanghiya Vyastha Evam Sthaniya S | Khatri | 3 | 250.00 | 750.00 | 157.50 | 592.50 |
| Discount : 21.00% | | | | | 124490.00 | 26142.90 | 98347.10 |

OUR BANKER- HDFC BANK, SHANKAR NAGAR. A/C NO. 27062020000134, IFSC- HDFC 0002496

| | | | | | |
|-----------|------------|-----------|-----------------------------|----------------------|-----------|
| Total Qty | Gross Amt. | Tot. Disc | Balance Including This Bill | Amount Rs.: | 98347.10 |
| 316 | 124490.00 | 26142.90 | 232,100.00 | Freight Charges : | 0.00 |
| | | | | Extra Discount (-) : | 47.10 |
| | | | | Net Amount : | 98,300.00 |

In Words : Ninety Eight Thousand Three Hundred Only

E.& O.E. Int. 18% P.A. will be charged if payment is not made in 15 days.
Return of books will be accepted by 31st December.
Any claim regarding this bill will be entertained within a week only.

For RAM PRASAD & SONS



RAM PRASAD & SONS

(EDUCATIONAL PUBLISHERS)

82, GOLDEN HOMES, NEAR VIP CLUB, POST SADDU, RAIPUR - 492014

Phone : 0771-4025399; Mob : 98261-44401, 88260-93947

E-mail : rpsonsraipur@gmail.com

Date : 25/02/2020

BILL No. 488

Pg. No. 1

To, M/s PRINCIPAL, GOVT. COLLEGE, DABHRA
DABHRA. (JANJGIR-CHAMPA)

DATE --
Trans. --

| S.NO. | PARTICULARS | AUTHOR | QTY | RATE | GROSS AMT. | DIS. VALUE | NET AMOUNT |
|-------|---|--------|-----|--------|------------|------------|------------|
| 1 | KPS Achunik Bhartiya Rajnitik Chintan | Khatri | 7 | 400.00 | 2800.00 | 588.00 | 2212.00 |
| 2 | KPS Tulnatmak Rajniti | Khatri | 7 | 350.00 | 2450.00 | 514.50 | 1935.50 |
| 3 | KPS Antarashtriya Rajniti Evam Samkaleen Mudd | Khatri | 7 | 400.00 | 2800.00 | 588.00 | 2212.00 |
| 4 | KPS Antarashtriya Sangathan | Khatri | 7 | 350.00 | 2450.00 | 514.50 | 1935.50 |
| 5 | KPS Shodh Pravidhi | Khatri | 7 | 400.00 | 2800.00 | 588.00 | 2212.00 |
| 6 | KPS Bharat Ki Videsh Niti | Khatri | 6 | 350.00 | 2100.00 | 441.00 | 1659.00 |
| 7 | KPS Rajnay | Khatri | 6 | 300.00 | 1800.00 | 378.00 | 1422.00 |
| 8 | KPS Manavadhikar | Khatri | 6 | 300.00 | 1800.00 | 378.00 | 1422.00 |
| 9 | KPS Bhartiya Sanghiya Vyastha Evam Sthaniya S | Khatri | 5 | 250.00 | 1250.00 | 262.50 | 987.50 |
| | Discount : 21.00% | | | | 20250.00 | 4252.50 | 15997.50 |

OUR BANKER- HDFC BANK, SHANKAR NAGAR. A/C NO. 27062020000134, IFSC- HDFC 0002496

| | | | | | |
|--|------------|-----------|-----------------------------|-------------------|-----------|
| Total Qty | Gross Amt. | Tot. Disc | Balance Including This Bill | Amount Rs.: | 15997.50 |
| 58 | 20250.00 | 4252.50 | 177,206.00 | Freight Charges : | 0.00 |
| In Words : Fifteen Thousand Nine Hundred Ninety Eight Only | | | | Net Amount : | 15,998.00 |

E. & O.E. Int. 18% P.A. will be charged if payment is not made in 15 days.
Any claim regarding this bill will be entertained within a week only.

For RAM PRASAD & SONS



RAM PRASAD & SONS

(EDUCATIONAL PUBLISHERS)

82, GOLDEN HOMES, NEAR VIP CLUB, POST SADDU, RAIPUR - 492014

Phone : 0771-4025399; Mob : 98261-44401, 87709-01006

E-mail : rpsonsraipur@gmail.com

ए.जी. कोड क्र. JNJ06

BOOK CODE 0638006

ST 22AVWPA1408R1ZB

BILL No. 297

Date : 14/02/2019

To, M/s PRINCIPAL, GOVT. COLLEGE, DABHRA
DABHRA. (JANJGIR-CHAMPA)

Pg. No. 1

REGD. COURIER--

DATE --
Trans. --

| S.NO. | PARTICULARS | AUTHOR | QTY | RATE | GROSS AMT. | DIS. VALUE | NET AMOUNT |
|-------|-----------------------------------|--------------------|-----|--------|------------|------------|------------|
| 1 | राजस्थान विज्ञान (प्रथम वर्ष) | J. Shyamsundram | 25 | 330.00 | 8250.00 | 1,732.50 | 6517.50 |
| 2 | समाजशास्त्र (प्रथम वर्ष) | A.P. Shrivastava | 25 | 300.00 | 7500.00 | 1,575.00 | 5925.00 |
| 3 | उर्ध्वशास्त्र (प्रथम वर्ष) | C.S. Mishra | 20 | 425.00 | 8500.00 | 1,785.00 | 6715.00 |
| 4 | इतिहास (प्रथम वर्ष) | A.C. Dahibhate | 20 | 300.00 | 6000.00 | 1,260.00 | 4740.00 |
| 5 | भूगोल (प्रथम वर्ष) | H.S. Gupta | 15 | 425.00 | 6375.00 | 1,338.75 | 5036.25 |
| 6 | राजस्थान विज्ञान (द्वितीय वर्ष) | J. Shyamsundram | 16 | 330.00 | 5280.00 | 1,108.80 | 4171.20 |
| 7 | समाजशास्त्र (द्वितीय वर्ष) | A.P. Shrivastava | 16 | 340.00 | 5440.00 | 1,142.40 | 4297.60 |
| 8 | उर्ध्वशास्त्र (द्वितीय वर्ष) | J.L. Bharadwaj | 16 | 450.00 | 7200.00 | 1,512.00 | 5688.00 |
| 9 | इतिहास (द्वितीय वर्ष) | A.C. Dahibhate | 16 | 300.00 | 4800.00 | 1,008.00 | 3792.00 |
| 10 | भूगोल (द्वितीय वर्ष) | H.S. Gupta | 16 | 425.00 | 6800.00 | 1,428.00 | 5372.00 |
| 11 | राजस्थान विज्ञान (तृतीय वर्ष) | J. Shyamsundram | 18 | 215.00 | 3870.00 | 812.70 | 3057.30 |
| 12 | समाजशास्त्र (तृतीय वर्ष) | A.P. Shrivastava | 18 | 330.00 | 5940.00 | 1,247.40 | 4692.60 |
| 13 | इतिहास (तृतीय वर्ष) | A.C. Dahibhate | 18 | 300.00 | 5400.00 | 1,134.00 | 4266.00 |
| 14 | भूगोल (तृतीय वर्ष) | S.N. Gautam | 18 | 425.00 | 7650.00 | 1,606.50 | 6043.50 |
| 15 | उर्ध्वशास्त्र (तृतीय वर्ष) | C.S. Mishra | 18 | 400.00 | 7200.00 | 1,512.00 | 5688.00 |
| 16 | दिल्लीय लेखकन | Agarwal | 5 | 500.00 | 2500.00 | 525.00 | 1975.00 |
| 17 | व्यावसायिक गणित | M.R. Agarwal | 7 | 350.00 | 2450.00 | 514.50 | 1935.50 |
| 18 | लागत लेखांकन | Agarwal | 9 | 550.00 | 4950.00 | 1,039.50 | 3910.50 |
| 19 | प्रबंधकीय लेखांकन | M.R. Agarwal | 8 | 350.00 | 2800.00 | 588.00 | 2212.00 |
| 20 | दलस्थिति विज्ञान (प्रथम वर्ष) | Niranjan Shrotriya | 5 | 400.00 | 2000.00 | 420.00 | 1580.00 |
| 21 | रसायन (प्रथम वर्ष) | R.C. Saraswat | 6 | 500.00 | 3000.00 | 630.00 | 2370.00 |
| 22 | बीजगणित एवं त्रिकोणमिति | B.R. Thakur | 2 | 300.00 | 600.00 | 126.00 | 474.00 |
| 23 | कलन के मूल तत्व | B.R. Thakur | 2 | 300.00 | 600.00 | 126.00 | 474.00 |
| 24 | सदिश विश्लेषण एवं ज्यामिति | B.R. Thakur | 3 | 300.00 | 900.00 | 189.00 | 711.00 |
| 25 | दलस्थिति विज्ञान (द्वितीय वर्ष) | Niranjan Shrotriya | 6 | 375.00 | 2250.00 | 472.50 | 1777.50 |
| 26 | रसायन (द्वितीय वर्ष) | S.M. Saxena | 7 | 575.00 | 4025.00 | 845.25 | 3179.75 |
| 27 | दलस्थिति विज्ञान (तृतीय वर्ष) | R.C. Saraswat | 7 | 525.00 | 3675.00 | 771.75 | 2903.25 |
| 28 | रसायन (तृतीय वर्ष) | S.M. Saxena | 4 | 575.00 | 2300.00 | 483.00 | 1817.00 |
| 29 | दलस्थिति विज्ञान (तृतीय वर्ष) | Niranjan Shrotriya | 4 | 375.00 | 1500.00 | 315.00 | 1185.00 |
| 30 | रसायन (तृतीय वर्ष) | R.C. Saraswat | 4 | 425.00 | 1700.00 | 357.00 | 1343.00 |
| 31 | PPM Programming in C (H) | | 2 | 200.00 | 400.00 | 84.00 | 316.00 |
| 32 | PPM Programming in Visual Basic | | 2 | 200.00 | 400.00 | 84.00 | 316.00 |
| 33 | PPM E-Commerce | | 2 | 200.00 | 400.00 | 84.00 | 316.00 |
| 34 | PPM HTIAL & Internet Applications | | 2 | 200.00 | 400.00 | 84.00 | 316.00 |
| 35 | PPM Office Automation | | 2 | 200.00 | 400.00 | 84.00 | 316.00 |
| 36 | PPM Programming in C (H) | | 2 | 200.00 | 400.00 | 84.00 | 316.00 |
| 37 | PPM Office Automation | | 3 | 200.00 | 600.00 | 126.00 | 474.00 |
| 38 | PPM Programming in Visual Basic | | 3 | 200.00 | 600.00 | 126.00 | 474.00 |
| 39 | | | 3 | 200.00 | 600.00 | 126.00 | 474.00 |

E.& O.E. Int. 18% P.A. will be charged if payment is not made in 15 days.
Any claim regarding this bill will be entertained within a week only.

For RAM PRASAD & SONS



RAM PRASAD & SONS

(EDUCATIONAL PUBLISHERS)

82, GOLDEN HOMES, NEAR VIP CLUB, POST SADDU, RAIPUR - 492014

Phone : 0771-4025399; Mob : 98261-44401, 87709-01006

E-mail : rpsonsraipur@gmail.com

ए.जी. कॉड क्र. JNJ06
DDO CODE 0538006

BILL No. 297

Date : 14/02/2019

To, M/s PRINCIPAL, GOVT. COLLEGE, DABHRA
DABHRA. (JANJGIR-CHAMPA)

Pg. No. 2

REGD./COURIER--

DATE --
Trans. --

| S.NO. | PARTICULARS | AUTHOR | QTY | RATE | GROSS AMT. | DIS. VALUE | NET AMOUNT |
|-------------------|---|--------|-----|--------|------------|------------|------------|
| 39 | PPM Database Management System (H) | | 3 | 200.00 | 600.00 | 126.00 | 474.00 |
| 40 | PPM E-Commerce | | 3 | 200.00 | 600.00 | 126.00 | 474.00 |
| 41 | PPM Inst. to Software Org. | | 3 | 200.00 | 600.00 | 126.00 | 474.00 |
| 42 | KPS Tulnatmak Rajniti | Khatri | 4 | 350.00 | 1400.00 | 294.00 | 1106.00 |
| 43 | KPS Antarashtriya Rajniti Evam Samkaleen Mudd | Khatri | 4 | 400.00 | 1600.00 | 336.00 | 1264.00 |
| 44 | KPS Lok Prashashan | Khatri | 4 | 450.00 | 1800.00 | 378.00 | 1422.00 |
| 45 | KPS Pashchatya Rajnitik Chintan | Khatri | 4 | 400.00 | 1600.00 | 336.00 | 1264.00 |
| 46 | KPS Antarashtriya Sangathan | Khatri | 4 | 350.00 | 1400.00 | 294.00 | 1106.00 |
| 47 | KPS Shodh Pravidhi | Khatri | 4 | 400.00 | 1600.00 | 336.00 | 1264.00 |
| 48 | KPS Bhartiya Sashan Evam Rajniti | Khatri | 4 | 400.00 | 1600.00 | 336.00 | 1264.00 |
| 49 | KPS Antarashtriya Kanoon | Khatri | 4 | 400.00 | 1600.00 | 336.00 | 1264.00 |
| 50 | KPS Uchattar Rajnitik Siddhanth | | 4 | 350.00 | 1400.00 | 294.00 | 1106.00 |
| 51 | KPS Manavadhikar | | 2 | 300.00 | 600.00 | 126.00 | 474.00 |
| 52 | KPS Bharat Ki Videsh Niti | | 3 | 350.00 | 1050.00 | 220.50 | 829.50 |
| Discount : 21.00% | | | | | 152705.00 | 32068.05 | 120636.95 |

PASS FOR PAYMENT - Rs. 1,21,100.00
IN WORDS - Rs. One lakh twenty one thousand one hundred only

[Signature]
Principal
Govt. Degree College Dabhra
Janjgir Champa (C.O.)

OUR BANKER- HDFC BANK, SHANKAR NAGAR. A/C NO. 27062020000134, IFSC- HDFC 0002496

| | | | |
|-----------|------------|-----------|-----------------------------|
| Total Qty | Gross Amt. | Tot. Disc | Balance Including This Bill |
| 423 | 152705.00 | 32068.05 | 171,216.00 |

| | |
|----------------------|------------|
| Amount Rs.: | 120636.95 |
| Freight Charges : | 0.00 |
| Extra Discount (-) : | 32.20 |
| Net Amount : | 121,100.00 |

In Words : One Lacs Twenty One Thousand One Hundred Only

E. & O.E. Int. 18% P.A. will be charged if payment is not made in 15 days.
Any claim regarding this bill will be entertained within a week only.

[Signature]
For RAM PRASAD & SONS



RAM PRASAD & SONS

(EDUCATIONAL PUBLISHERS)

82, GOLDEN HOMES, NEAR VIP CLUB, POST SADDU, RAIPUR - 492014

Phone : 0771-4025399; Mob : 98261-44401, 87709-01006

E-mail : rpsonsraipur@gmail.com

GST 22AVWPA1408R1ZB

ए.जी. कोड क्र. JNJ06
DDO CODE 0638006

BILL No. 323

Date : 14/02/2019

Pg. No. 1

To, M/s PRINCIPAL, GOVT. COLLEGE, DABHRA
DABHRA. (JANJGIR-CHAMPA)

REGD./COURIER-- DATE --
Trans. --

| S.NO. | PARTICULARS | AUTHOR | QTY | RATE | GROSS AMT. | DIS. VALUE | NET AMOUNT |
|-------|---|--------------------|-----|--------|------------|------------|------------|
| 1 | राजनीति विज्ञान (प्रथम वर्ष) | J. Shyamsundram | 5 | 330.00 | 1650.00 | 346.50 | 1303.50 |
| 2 | समाजशास्त्र (प्रथम वर्ष) | A.P. Shrivastava | 5 | 300.00 | 1500.00 | 315.00 | 1185.00 |
| 3 | अर्थशास्त्र (प्रथम वर्ष) | C.S. Mishra | 6 | 425.00 | 2550.00 | 535.50 | 2014.50 |
| 4 | इतिहास (प्रथम वर्ष) | A.C. Dahibhate | 5 | 300.00 | 1500.00 | 315.00 | 1185.00 |
| 5 | राजनीति विज्ञान (द्वितीय वर्ष) | J. Shyamsundram | 6 | 330.00 | 1980.00 | 415.80 | 1564.20 |
| 6 | समाजशास्त्र (द्वितीय वर्ष) | A.P. Shrivastava | 7 | 340.00 | 2380.00 | 499.80 | 1880.20 |
| 7 | अर्थशास्त्र (द्वितीय वर्ष) | J.L. Bharadwaj | 7 | 450.00 | 3150.00 | 661.50 | 2488.50 |
| 8 | इतिहास (द्वितीय वर्ष) | A.C. Dahibhate | 6 | 300.00 | 1800.00 | 378.00 | 1422.00 |
| 9 | भूगोल (द्वितीय वर्ष) | H.S. Gupta | 5 | 425.00 | 2125.00 | 446.25 | 1678.75 |
| 10 | राजनीति विज्ञान (तृतीय वर्ष) | J. Shyamsundram | 5 | 215.00 | 1075.00 | 225.75 | 849.25 |
| 11 | समाजशास्त्र (तृतीय वर्ष) | A.P. Shrivastava | 5 | 330.00 | 1650.00 | 346.50 | 1303.50 |
| 12 | अर्थशास्त्र (तृतीय वर्ष) | C.S. Mishra | 5 | 400.00 | 2000.00 | 420.00 | 1580.00 |
| 13 | इतिहास (तृतीय वर्ष) | A.C. Dahibhate | 4 | 300.00 | 1200.00 | 252.00 | 948.00 |
| 14 | भूगोल (तृतीय वर्ष) | S.N. Gautam | 4 | 425.00 | 1700.00 | 357.00 | 1343.00 |
| 15 | वित्तीय लेखांकन | Agarwal | 2 | 500.00 | 1000.00 | 210.00 | 790.00 |
| 16 | वनस्पति विज्ञान (प्रथम वर्ष) | Niranjan Shrotriya | 6 | 400.00 | 2400.00 | 504.00 | 1896.00 |
| 17 | रसायन (प्रथम वर्ष) | R.C. Saraswat | 6 | 500.00 | 3000.00 | 630.00 | 2370.00 |
| 18 | नीतिकी (प्रथम वर्ष) | B.K. Sinha | 3 | 500.00 | 1500.00 | 315.00 | 1185.00 |
| 19 | वनस्पति विज्ञान (द्वितीय वर्ष) | Niranjan Shrotriya | 6 | 375.00 | 2250.00 | 472.50 | 1777.50 |
| 20 | जनु विज्ञान (द्वितीय वर्ष) | S.M. Saxena | 3 | 575.00 | 1725.00 | 362.25 | 1362.75 |
| 21 | रसायन (तृतीय वर्ष) | R.C. Saraswat | 4 | 425.00 | 1700.00 | 357.00 | 1343.00 |
| 22 | PPM Office Automation | | 1 | 200.00 | 200.00 | 42.00 | 158.00 |
| 23 | PPM Programming in C (H) | | 1 | 200.00 | 200.00 | 42.00 | 158.00 |
| 24 | PPM Programming in Visual Basic | | 1 | 200.00 | 200.00 | 42.00 | 158.00 |
| 25 | PPM E-Commerce | | 1 | 200.00 | 200.00 | 42.00 | 158.00 |
| 26 | PPM HTML & Internet Applications | | 1 | 200.00 | 200.00 | 42.00 | 158.00 |
| 27 | PPM Inst. to Software Org. | | 2 | 200.00 | 400.00 | 84.00 | 316.00 |
| 28 | PPM Programming in C (H) | | 2 | 200.00 | 400.00 | 84.00 | 316.00 |
| 29 | PPM Office Automation | | 2 | 200.00 | 400.00 | 84.00 | 316.00 |
| 30 | PPM Programming in Visual Basic | | 2 | 200.00 | 400.00 | 84.00 | 316.00 |
| 31 | PPM Database Management System (H) | | 2 | 200.00 | 400.00 | 84.00 | 316.00 |
| 32 | PPM E-Commerce | | 2 | 200.00 | 400.00 | 84.00 | 316.00 |
| 33 | KPS Tulnatmak Rajniti | Khatri | 2 | 350.00 | 700.00 | 147.00 | 553.00 |
| 34 | KPS Antarashtriya Rajniti Evam Samkaleen Mudd | Khatri | 2 | 400.00 | 800.00 | 168.00 | 632.00 |
| 35 | KPS Lok Prashashan | Khatri | 2 | 450.00 | 900.00 | 189.00 | 711.00 |
| 36 | KPS Pashchatya Rajnitik Chintan | Khatri | 2 | 400.00 | 800.00 | 168.00 | 632.00 |
| 37 | KPS Antarashtriya Sangathan | Khatri | 2 | 350.00 | 700.00 | 147.00 | 553.00 |
| 38 | KPS Shodh Pravidhi | Khatri | 2 | 400.00 | 800.00 | 168.00 | 632.00 |

E.& O.E. Int. 18% P.A. will be charged if payment is not made in 15 days.
Any claim regarding this bill will be entertained within a week only.

For RAM PRASAD & SONS



RAM PRASAD & SONS

(EDUCATIONAL PUBLISHERS)

82, GOLDEN HOMES, NEAR VIP CLUB, POST SADDU, RAIPUR - 492014

Phone : 0771-4025399; Mob : 98261-44401, 87709-01006

E-mail : rpsonsraipur@gmail.com

GST 22AVWPA1408R1ZB

ए.जी.के.ए.स. ज.जी.के.
INDO CODE 0638005

BILL No. 323

Date : 14/02/2019

Pg. No. 2

To, M/s PRINCIPAL, GOVT. COLLEGE, DABHRA
DABHRA. (JANJGIR-CHAMPA)

REGD./COURIER--

DATE --
Trans. --

| S.NO. | PARTICULARS | AUTHOR | QTY | RATE | GROSS AMT. | DIS. VALUE | NET AMOUNT |
|-------------------|--|--------|-----|--------|------------|------------|------------|
| 39 | KPS Bhartiya Sashan Evam Rajniti | Khatri | 2 | 400.00 | 800.00 | 168.00 | 632.00 |
| 40 | KPS Antarashtriya Kanoon | Khatri | 2 | 400.00 | 800.00 | 168.00 | 632.00 |
| 41 | KPS Uchhattar Samajshastriya Siddhanth | Dubey | 2 | 150.00 | 300.00 | 63.00 | 237.00 |
| 42 | KPS Manavadhikar | | 2 | 300.00 | 600.00 | 126.00 | 474.00 |
| 43 | KPS Bharat Ki Videsh Niti | | 1 | 350.00 | 350.00 | 73.50 | 276.50 |
| Discount : 21.00% | | | | | 50785.00 | 10664.85 | 40120.15 |

PASS-FOR PAYMENT - Rs. 40120.15
IN WORDS - Rs. Forty thousand one hundred and one only

Govt. Degree College Dabhra
Dabhra Champa (C.G.)

OUR BANKER- HDFC BANK, SHANKAR NAGAR. A/C NO. 27062020000134, IFSC- HDFC 0002496

| | | | |
|-----------|------------|-----------|-----------------------------|
| Total Qty | Gross Amt. | Tot. Disc | Balance Including This Bill |
| 143 | 50785.00 | 10664.85 | 171,216.00 |

| | |
|----------------------|-----------|
| Amount Rs.: | 40120.15 |
| Freight Charges : | 0.00 |
| Extra Discount (-) : | 20.15 |
| Net Amount : | 40,100.00 |

In Words : Forty Thousand One Hundred Only

E.& O.E. Int. 18% P.A. will be charged if payment is not made in 15 days.
Any claim regarding this bill will be entertained within a week only.

For RAM PRASAD & SONS